Practice here, on the next page are the answers.

Using the “T” chart and the selected oxidation numbers, show all possible compounds (formulas and names)
for nitrogen and oxygen.
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Using the “T” chart and the selected oxidation numbers, show all possible compounds (formulas and names)
for phosphorous and fluorine.
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Using the “T” chart and the selected oxidation numbers, show all possible compounds (formulas and names)

for nitrogen and oxygen.

Nitrogen has 8 selected oxidation states, whereas oxygen has but one.
Only the opposite signs can sum to zero, so we omit the nitrogen —3, —2, and —1

O

2.

This is the list of ALL POSSIBLESs nitrogen / oxygen compounds. There are NO MORE.

/ 2:1 ratio sums to zero, N,O is dinitrogen monoxide
< 1:1 ratio sums to zero as well, NO is nitrogen monoxide
T 2:3 ratio sums to zero too, so N,Ojs is dinitrogen trioxide

1:2 ratio sums to zero as well, so NO, is nitrogen dioxide

2:5 ratio sums to zero, so N,O’ is dinitrogen pentoxide

Using the “T” chart and the selected oxidation numbers, show all possible compounds (formulas and names)
for phosphorous and fluorine.

Phosphorous has 3 selected oxidation states, whereas fluorine has but one.
Only the opposite signs can sum to zero. There are only 2 compounds possible here.

+3

+5

This is the list of ALL POSSIBLESs phosphorous / fluorine compounds. There are NO MORE.

The -3 oxidation state can’t sum up to zero with the —1 fluorine oxidation state, so we omit it here

-1 This sums to zero with a 1:3 ratio, so PF; is phosphorous trifluoride

This sums to zero in a 1:5 ratio so PF;s is phosphorous pentafluoride



